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RAM 3GB, ROM 64GB

1 SIM K4, 1 SIM = TF K&

—4#EFS: Code39, Code93, Codel28, CodaBar, EAN-8/13, ITF25,
ISBN13, MAT25, MSI, Codell, IND25, CHINAPOST £
—#ER: Datamatrix, QR, microQR, AZTEC, HANXIN Zf
4 mil

Code 39 (5mil): 90 mm~170 mm

Code 39 (10 mil): 50 mm ~ 310 mm

Code 128 (25 mil): 40 mm ~ 700 mm

QR (15 mil): 40 mm~ 310 mm

DM (10 mil): 65 mm ~ 200 mm

#2100 HiRATERE

AIEREL: 500 FEEEE

FEE&L: 1300 BEEEZE

2G: GSM850/GSM900/DCS1800/PCS1900

HIKROBOT

UPCE, UPCA,

3G: CDMAEVDO: BCO; WCDMA: B1/B2/B4/B5/B8; TD-SCDMA: B34/B39
4G: FDD-LTE: B1/B2/B3/B4/B5/B7/B8/B20; TDD-LTE: B34/B38/B39/B40/B41
IEEE802.11 a/b/g/n/ac, 5725~ 5850 MHz; 5150 ~ 5350 MHz; 2400 ~ 2483.5 MHz

BT5.0
GPS, Jt3l, GLONASS
USB2.0, Type-C, OTG

4 DC5V, 2.0A
#iA: AC100~240V, 50~ 60 Hz
4900 mAh

5.5 F~FEMIER (1440x 720, T FBEBRE)
157 mm x 75 mm x 15 mm

250g (EEMh)

THERE-20~50C, fiffEuRE-40~70°C

5% ~ 95%RH J&)4 5k

IP68
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